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SBI CLERK PRELIMS LIVE LEAK 

QUESTIONS 

Q 1. In the question given below, the sentence is divided into three parts I, 

II and III. For each part an alternate statement is also given. You have 

to determine if a part requires correction, and then mark that as your 

answer. 

He would go on from win one/of the most coveted championship/games in the 

history of Basketball. 

I. He would go on to win one

II. of the most coveted championships

III. games on the history of Basketball.

1) I only

2) II only

3) Both I and II

4) Both II and III

5) I, II and III

Q 2. In the question given below, the sentence is divided into three parts I, 

II and III. For each part an alternate statement is also given. You have 

to determine if a part requires correction, and then mark that as your 

answer. 

It were destined/that she should be able/to keep her promise to him. 
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I. It was destined 

II. that she could be able 

III. to kept her promise to him. 

1) I only 

2) II only 

3) Both I and II 

4) Both II and III 

5) I, II and III 

Q 3. In the question given below, the sentence is divided into three parts I, 

II and III. For each part an alternate statement is also given. You have 

to determine if a part requires correction, and then mark that as your 

answer. 

Howard blames disagreements with a/professor regarding this hypothesis/in a 

reason for his leaving the college. 

I. Howard blames disagreements along a 

II. professors regarding this hypothesis 

III. as a reason for his leaving the college. 

1)  I only 

2) II only  

3) III only 

4) Both II and III 

5) I, II and III 
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Q 4. In the question given below, the sentence is divided into three parts I, 

II and III. For each part an alternate statement is also given. You have 

to determine if a part requires correction, and then mark that as your 

answer. 

It was indeed fate whom/brought the lovers together/from that rainy August 

afternoon. 

I. It was indeed fate that 

II. were to brought the lovers together 

III. on that rainy August afternoon. 

1) I only 

2)  II only  

3) Both I and III 

4) Both II and III 

5) I, II and III 

Q 5. In the question given below, the sentence is divided into three parts I, 

II and III. For each part an alternate statement is also given. You have 

to determine if a part requires correction, and then mark that as your 

answer. 

By the will of his father he/had granted sole rights to his/father's lands and the 

properties in Mayfield. 

I. By the will in his father he 

II. had been granted sole rights to his 

III. father's lands and the properties on Mayfield. 
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1) I only 

2) II only 

3) Both I and II 

4) Both II and III 

5) I, II and III 

Q 6. In the following sentence, a part of the sentence is underlined. Below 

are given alternatives to the underlined part, which may improve the 

sentence. Choose the correct alternative. In case no improvement is 

needed, choose the alternative that indicates 'No improvement'. 

It was deigned unnecessary by the council to be holding public functions anymore. 

A. It were deigned unnecessary 

B. It was deemed unnecessary 

C. It had been deigned unnecessary 

1) Only A 

2) Only B 

3) Both A and C 

4) Both B and C 

5) No improvement 

Q 7. In the following sentence, a part of the sentence is underlined. Below 

are given alternatives to the underlined part, which may improve the 

sentence. Choose the correct alternative. In case no improvement is 

needed, choose the alternative that indicates 'No improvement'. 
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The teacher felt great remorse in spite to the overwhelming response by the 

students. 

A. remorsed in spite to  

B. remorse in spite of 

C. remorse despite 

1) Only A 

2) Only B 

3) Both A and C 

4) Both B and C 

5) No improvement 

Q 8. In the following sentence, a part of the sentence is underlined. Below 

are given alternatives to the underlined part, which may improve the 

sentence. Choose the correct alternative. In case no improvement is 

needed, choose the alternative that indicates 'No improvement.' 

The coach was on the vestige of leading the team to a great victory at the 

Basketball tournament. 

A. Was on the verge of 

B. Were on the vestige of 

C. Was on the cusp of 

1) Only A 

2) Only B 

3) Both A and C 

https://testbook.com/offers
https://play.google.com/store/apps/details?id=com.testbook.tbapp&hl=en


  

6 | P a g e  

  

4) Both B and C 

5) No improvement 

Q 9. In the following sentence, a part of the sentence is underlined. Below 

are given alternatives to the underlined part, which may improve the 

sentence. Choose the correct alternative. In case no improvement is 

needed, choose the alternative that indicates 'No improvement.' 

In doing so, the children wanted to cultivate better personalities for themselves. 

A. In done so 

B. By done so 

C. In doing to 

1) Only A 

2) Only B 

3) Both A and C 

4) Both B and C 

5) No improvement 

Q 10. In the following sentence, a part of the sentence is underlined. Below 

are given alternatives to the underlined part, which may improve the 

sentence. Choose the correct alternative. In case no improvement is 

needed, choose the alternative that indicates 'No improvement'. 

The crisis made Kennedy believe that another failure on part of the United 

States in arrest communist expansion would fatally damage U.S. credibility. 

A. for the arrest communist expansion would 

B. in arresting communist expansion would 
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C. to arrest communist expansion would 

1) Only A 

2) Only B 

3) Both A and C 

4) Both B and C 

5) No improvement 

Q 11. In the question, two sentences (I) and (II) are given. Each sentence has 

a blank in it. Against each five options are suggested. Out of these, only 

one fits at both the places in the context of each sentence. Mark that 

option as your answer. 

I. The television seemed to quickly _______ radio as the major source of 

entertainment. 

II. The performance shown by the boy would _______ even the toughest Olympic 

athletes. 

1) Cover 

2) Conflict 

3) Conflict 

4) Propose 

5) Ignite 

Q 12. In the question, two sentences (I) and (II) are given. Each sentence has 

a blank in it. Against each five options are suggested. Out of these, only 
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one fits at both the places in the context of each sentence. Mark that 

option as your answer. 

I. Little did I know that this incident from my past would come back to _______ 

me. 

II. Cafe de Flore was the favourite _______ of the artists in the 1920s Paris. 

1) Balm 

2) Club 

3) Joint 

4) Haunt 

5) Invest 

Q 13. In the question, two sentences (I) and (II) are given. Each sentence has 

a blank in it. Against each five options are suggested. Out of these, only 

one fits at both the places in the context of each sentence. Mark that 

option as your answer. 

I. The edge of the cliff seemed very _______ and I wondered how anybody could 

have ever climbed it. 

II. The bigger slope would mean a _______ demand curve and lesser elasticity of 

the demand for a product. 

1) Tall 

2) Escalating 

3) Steep 

4) Diminishing 

5) Skip 

Q 14. In the question, two sentences (I) and (II) are given. Each sentence has 

a blank in it. Against each five options are suggested. Out of these, only 
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one fits at both the places in the context of each sentence. Mark that 

option as your answer. 

I. He was the most _______ person I had met, as his magnanimity showed no 

bounds. 

II. The purpose of such _______ institutions is to ensure the poor and the needy 

are well taken care of. 

1) Disciplined 

2) Poor 

3) Administrative 

4) Executive 

5) Charitable 

Q 15. In the question, two sentences (I) and (II) are given. Each sentence has 

a blank in it. Against each five options are suggested. Out of these, only 

one fits at both the places in the context of each sentence. Mark that 

option as your answer. 

I. Sentences of such type would compare _______ but similar ideas in a 

paragraph. 

II. As soon as I entered the room, I got the _______ impression of having been 

there before. 

1) Different 

2) Distinct 

3) Thought 

4) Evolution 

5) Dodge 
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Direction: Read the following passage carefully and answer the questions 

given below.  

The Centre’s decision to revoke the Armed Forces (Special Powers) Act in Meghalaya 

and reduce its Ambit in Arunachal Pradesh is welcomed insofar as it signifies a 

willingness to reconsider the use of the special law as and when the ground situation 

improves. The extent of ‘disturbed areas’ in Meghalaya was earlier limited to within 20 

km of its border with Assam. The whole of Nagaland, most of Assam, and Manipur 

excluding the areas falling under seven Assembly constituencies in Imphal, continue to 

be under the law, which provides protection to the point of total immunity from 

prosecution for the security forces operating in the notified areas. In Arunachal, the 

areas under AFSPA have been reduced to the limits of eight police stations, instead of 

the previous 16, in three districts bordering Assam. It was only last month that the Act 

was extended for six months in Assam, even though the Union Home Ministry has said 

the situation has improved considerably. AFSPA was extended in Nagaland by six 

months from January. There is no sign that the vigour of the law will be diluted, but the 

area of its use may be progressively curtailed over time. It was withdrawn in Tripura in 

2015. Assam has been empowered to decide on how long it needs the cover of AFSPA. 

Even though there is ample evidence that the law has created a sense of impunity among 

the security forces wherever it has been invoked, the Centre is still far from abrogating 

the Act, mainly because the Army favours its continuance. Manipur had borne the brunt 

of Army excesses over the years. In a rare intervention in a matter concerning internal 

security, in 2016 the Supreme Court had ruled that the armed forces cannot escape 

investigation for excesses committed in the discharge of their duties even in ‘disturbed 

areas’. It ordered a probe into specific cases. In other words, accountability for human 

rights violations is sacrosanct and the legal protection offered by AFSPA cannot be 

absolute. During the Budget session, Union Minister of State for Home Hansraj 

Gangaram Ahir informed the Lok Sabha in a written reply that the government was 

considering a proposal to make AFSPA more “operationally effective and humane”. In 
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2005, a committee headed by former Supreme Court judge B.P. Jeevan Reddy was 

tasked by the then United Progressive Alliance government with suggesting 

amendments to AFSPA. The committee recommended that the law is repealed 

altogether and that the Unlawful Activities (Prevention) Act is amended in a manner 

that would enable insurgency and conflict to be tackled legally. Now that there is some 

degree of official recognition that special laws for protecting armed forces personnel 

from the legal consequences of their operations and excesses need not continue 

indefinitely, it is time for the Centre to revisit the Jeevan Reddy committee report and 

find ways of humanising AFSPA, if not revoking it altogether. 

Q 16. What is the meaning of insofar? 

1) Instead of  

2) Despite  

3) As long as 

4) So far as 

5) Although 

Q 17. Which of the following words is similar in meaning to the word sacrosanct?  

1) Captivate 

2) Beguile 

3) Unassailable 

4) Delight  

5) Enthrall 

Q 18. What was the recommendation of the ''Jeevan Reddy led committee'' that the 

author wants government to revisit?  

1) It said that the Act should be amended to humanize AFSPA, instead revoking it 

altogether 
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2) It said that the law is draconian and Army officers taking undue advantage of the 

Act must be given severe punishments  

3) It said that states should be given the right to decide whether they want AFSPA to 

continue or not  

4) It said that the law be abrogated, and that the Unlawful Activities (Prevention) 

Act be amended so that insurgency and conflict to be tackled legally 

5) None of the above 

Q 19. How much area was under AFSPA in Meghalaya prior to its complete revocation?  

1) It was limited to 20 km of its border with Manipur 

2) It was limited to 20 km of its border with Assam 

3) It was limited to 21 km of its border with Tripura 

4) It was limited to 20 km 

5) It was limited to 26 km of its border with West Bengal 

Q 20. Why does the author want the Government to at least humanise the AFSPA Act?  

1) Because human rights abuse has taken a dirty turn in India and more and more 

people are coming out on the streets to protest against it. 

2) Because much of the insurgency in India has already been tackled which makes 

AFSPA completely useless. 

3) Because there is some degree of official recognition that special laws for 

protecting armed forces personnel from the legal consequences of their 

operations and excesses need not continue indefinitely. 

4) Because AFSPA has been criticized globally by various human rights organisation 

and the author is apprehensive that ignoring this would damage India's image in 

the world. 

5) All of the above 
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Q 21. ''Armed forces cannot escape investigation for excesses committed in the 

discharge of their duties even in ‘disturbed areas.’ '' What did this decision meant 

for the armed forces?  

1) It meant that cases against Indian forces would be dismissed if the victims of 

human rights violations are found to have engaged in acts against the state. 

2) It meant that the degree of accountability for human rights violations will vary 

depending upon the circumstances under which an act was performed.  

3) It meant that armed forces can't escape investigation if any lapse in the discharge 

of duties is found.  

4) It meant that accountability for human rights violations is of utmost importance 

and the legal protection offered by AFSPA cannot be absolute. 

5) None of the above 

Q 22. What according to the author is going to be the scope of this Special Act going 

ahead?  

1) According to the author in the future this act will provide protection to the point 

of total immunity from prosecution for the security forces.  

2) The author believes that the strength of the law is not likely to be diluted, but the 

area of its use may be progressively curtailed over time. 

3) The author believes that States will be empowered to decide on how long it needs 

the cover of AFSPA in the future. 

4) The author believes that the law will be repealed altogether, and that the 

Unlawful Activities (Prevention) Act be amended in a manner that would enable 

insurgency and conflict to be tackled legally. 

5) All if the above 

Q 23. Which of the following is one of the major flaws in the Armed Forces Special 

Powers Act?  
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1) It legitimizes killing of innocent civilians. 

2) It creates a sense of impunity among the security forces. 

3) It can be invoked by the armed forces anywhere in India to suit their needs. 

4) It gives armed forces power to overturn government decisions as well as court's 

decision. 

5) None of the above 

Q 24. Which among the following states is completely under AFSPA Act? 

1) Arunachal Pradesh 

2) Tripura 

3) Assam 

4) Manipur 

5) Nagaland 

Q 25. What does Government's decision to revoke AFSPA in Meghalaya indicate?  

1) It indicates the willingness of Narendra Modi led government to attract 

investment to North Eastern Regions from East Asia. 

2) It indicates that Peace is returning to North Eastern Regions. 

3) It indicates that the power to invoke and revoke this act lies in the hand of the 

ruling central government only. 

4) A willingness to revoke the use of this special act as and when the ground 

situation improves. 

5) All of the above 

 

Direction: The following sentences form a paragraph. The second and the 

fifth sentences of the paragraph are given. The rest of the sentences are 

numbered as A, B, C, D and E. These five parts are not given in their proper 
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order. Read the sentences and choose the alternative that arranges them in 

correct order. 

A. Its principal objection was that CPEC passed through Pakistan-occupied Kashmir 

(PoK). 

2. India registered its protest by boycotting the high-profile Belt and Road Forum 

organised by China. 

B. Otherwise, its protests on CPEC may well be ignored by stakeholders in the project, 

with little consequence. 

C. It says the so-called ‘China-Pakistan Economic Corridor’ violates India’s sovereignty 

and territorial integrity. No country can accept a project that ignores its core concerns 

on sovereignty and territorial integrity. 

5. At a broader level, if China invests heavily in the region, it risks becoming party to 

what has been a troubling bilateral dispute between nuclear-armed rivals.  

D. India has sent a clear message to Beijing that it doesn’t support China-Pakistan 

Economic Corridor(CPEC).  

E. CPEC is ultimately a thorn in India-Pakistan relations. The best way forward would 

be for India to come up with a concrete plan on PoK.  

 

Q 26. Which of the following is THIRD in the above given passage?  

1) A 

2) B 

3) D 

4) E 

5) C 
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Q 27. Which of the following is FOURTH in the above given passage?  

1) C 

2) A 

3) E 

4) B 

5) D 

Q 28. Which of the following is LAST(SEVENTH) in the above given passage?  

1) B 

2) E 

3) D 

4) A 

5) C 

 

Q 29. Which of the following is FIRST in the above given passage?  

1) D 

2) E 

3) A 

4) B 

5) C 

Q 30. Which of the following is SIXTH in the above given passage?  

1) B 

2) D 

3) E 

4) A 

5) C 
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Directions: Study the following information and answer the given questions. 

Pavan is the father of John. Sweety is the mother of Nag who is a brother of John. 

Bunny is a son of Sweety. Chinni is the sister of Bunny. 

Q 31. How John is related to Chinni? 

1) Data inadequate 

2) Cousin 

3) Brother 

4) Sister 

5) Uncle 

 

Q 32. How Pavan is related to Bunny? 

1) Uncle 

2) Grandfather 

3) Father 

4) Brother 

5) Cousin 

 

Directions: Study the following information and answer the below-given questions. 

L, M, N, O and P are five students, each of with different heights. O is not the third 

shortest student. L is shorter than only one student. N is taller than P only. 

Q 33. Who among the following is third shortest student? 

1) L 

2) M 

3) N 

4) O 
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5) P 

Q 34. Who among the following is tallest? 

1) L  

2) M 

3) N 

4) O 

5) P 

Q 35. Directions: In the following question assuming the given statements to 

be true, find which of the conclusion among given conclusions is/are definitely 

true and then give your answers accordingly. 

Statements: Z < P ≤ A = J ≥ T > N; O ≥ L = E > A < D; V < S > J > R 

Conclusions: 

I. V > N 

II. S ≥ N 

III. Z < L 

IV. O > R 

1) Only III is true 

2) Only I and III are true 

3) Only III and IV are true 

4) Only I, III and IV are true 

5) Only I, II and III are true 

Q 36. Directions: In the following question assuming the given statements to 

be true, find which of the conclusion among given conclusions is/are definitely 

true and then give your answers accordingly. 

Statements: Z = Y ≥ I > O ≤ X = S; R > M > E > Z ≤ G; F ≤ Y ≤ N > V > D 
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Conclusions: 

I. I < R 

II. D > I 

III. R > O 

IV. N > O 

1) Only I and III are true 

2) Only I and II are true 

3) Only I, II and III are true 

4) Only III and IV are true 

5) All except conclusion II are true 

Q 37. Directions: In the following question assuming the given statements to 

be true, find which of the conclusion among given conclusions is/are definitely 

true and then give your answers accordingly. 

Statements: C > O ≥ Q ≤ T ≤ N ≥ Y = R; I ≥ V ≥ E ≤ S ≤ R; R > L > A; K < G ≤ M 

> Q ≥ D 

Conclusions: 

I. N > E 

II. N = E 

III. N > A 

IV. T ≥ G 

1) Only III is true 

2) Only III and either I or II are true 

3) Only II and III are true 
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4) Only either I or II is true 

5) Only III and IV are true 

 

Q 38. Directions: In the question below are given four statements followed by 

four conclusions numbered I, II, III and IV. You have to take the given 

statements to be true even if they seem to be at variance with commonly known 

facts. Read all the conclusions and then decide which of the given conclusions 

logically follows from the given statements disregarding commonly known 

facts. 

Statements: 

Some monkey are parrot. 

No parrot is cow. 

Some cow are horse. 

All horse are tiger. 

Conclusions: 

I. Some tiger are parrot. 

II. Some cow are monkey. 

III. No parrot is tiger. 

IV. Some horse are parrot. 

1) Only IV follows 

2) Only I follows 

3) Only II follows 

4) Only either I or III follows 

5) Only II and IV follow 
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Q 39. Directions: In the question below are given four statements followed by 

four conclusions numbered I, II, III and IV. You have to take the given 

statements to be true even if they seem to be at variance with commonly known 

facts. Read all the conclusions and then decide which of the given conclusions 

logically follows from the given statements disregarding commonly known 

facts. 

Statements: 

All watch are song. 

Some song are cake. 

Some flag are not watch. 

No chair is song. 

Conclusions: 

I. Some song are not flag. 

II. Some watch are cake. 

III. No watch is chair. 

IV. All chair can be cake. 

1) Only I and IV follow 

2) Only I and III follow 

3) Only III follows 

4) Only I, III, IV follow 

5) Only II, III and IV follow 
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Directions: Study the following number sequence and answer the questions given 

below it. 

3 1 4 7 3 9 8 5 5 2 6 3 1 1 8 6 3 8 9 2 2 4 1 4 6 7 8 

Q 40. Which of the following is third number to the right of the number which is 

ninth from the right end in the given sequence? 

1) 4 

2) 2 

3) 5 

4) 6 

5) None of these 

Q 41. How many odd numbers are there in the sequence which are immediately 

preceded and also immediately followed by an even number? 

1) One 

2) Two 

3) Three 

4) Four 

5) More than four 

Q 42. How many even numbers are there in the sequence which are immediately 

preceded by an odd number but immediately followed by an even number? 

1) One 

2) Two 

3) Three 

4) Four 

5) More than four 

Q 43. If MOTHER is coded as 79, what is the code for SISTER? 

1) 89 

2) 88 

3) 91 
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4) 90 

5) 93 

Directions: Study the following arrangement carefully and answer the questions given: 

4 C * 3 B J 5 K % L 9 M 6 N * A 8 P 1 @ Q $ R 2 S # T U 7 G 

Q 44. How many such consonants are there in the above arrangement, each of 

which is immediately preceded by a number and immediately followed by a 

symbol? 

1) One 

2) Two 

3) Three 

4) More than three 

5) None 

Q 45. If all the symbols are removed from the above arrangement, which 

element will be eighth to the right of the sixth element from the left? 

1) 7 

2) C 

3) 6 

4) 8 

5) None 

Q 46. If all the numbers are removed from the above arrangement, which 

element will be sixth to the left of the tenth element from the right? 

1) 7 

2) C 

3) 6 

4) % 

5) None 
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Q 47. In a certain code language the word STYLE is written as LSYET and 

TURKY is written as KTRYU. How will the word ZEBRA be written in that code 

language? 

1) RZBAE 

2) ARBZE 

3) AEBRZ 

4) ARBEZ 

5) AZBER 

Q 48. Directions: Which one set of letters when sequentially placed at the gaps 

in the given letter series shall complete it. 

kk _ kk_k _ kkkk _ k_ 

1) mkmmk 

2) nmnmk 

3) nmmkm 

4) nnmkk 

5) kmnkn 

Q 49. Directions: Study the following information and answer the questions 

given. 

Kumar walks 10 meters towards North. From there, he walks 6 meters towards 

South. Then, he walks 3 meters towards East.  

 In which direction is he from the starting point? 

1) East 
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2) West 

3) North – West 

4) North – East 

5) North 

Q 50. Directions: Study the following information and answer the questions 

given. 

Kumar walks 10 meters towards North. From there, he walks 6 meters towards 

South. Then, he walks 3 meters towards East.  

How far is he with respect to his starting point? 

1) 1 meter 

2) 2 meters 

3) 3 meters 

4) 4 meters 

5) 5 meters 

Directions: Study the following information and answer the questions given. 

Eight persons – Anu, Chris, Ellen, Gouri, Jasmin, Leela, Nike and Peru are sitting 

around a circular table facing the center with equal distances between each other (but 

not necessarily in the same order). Each of them is also related to Jasmin in some way 

or the other. Chris sits third to the left of Jasmin. Only one person sits between Jasmin 

and Peru. Jasmin’s sister sits to the immediate right of Peru. Only two people sit 

between Jasmin’s sister and Jasmin’s mother. Anu sits to the immediate right of 

Jasmin’s mother. Nike sits to the immediate right of Gouri. Jasmin’s brother sits third to 

the right of Nike. Jasmin’s wife sits second to the left of Jasmin’s brother. Only three 
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people sit between Jasmin’s wife and Ellen. Jasmin’s son sits second to the right of 

Jasmin’s father. Only two people sit between Jasmin’s father and Jasmin’s daughter. 

Q 51. Who amongst the following is the brother of Jasmin? 

1) Peru 

2) Nike 

3) Chris 

4) Anu 

5) Gouri 

Q 52. How many people sit between Jasmin and Chris, when counted from the 

right of Chris? 

1) Five 

2) Two 

3) Four 

4) Three 

5) One 

Q 53. Who sits to the immediate right of Peru? 

1) Anu 

2) Jasmin’s sister 

3) Jasmin 

4) Jasmin’s Wife 

5) Chris 

Q 54. Which of the following statement is true with respect to the given 

information? 

1) Jasmin is an immediate neighbor of his father. 
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2) Gouri is the mother – in – law of Peru. 

3) Nike sits to the immediate left of Anu 

4) Jasmin’s mother sits to the immediate left of Jasmin. 

5) All are true. 

Q 55. How is Anu related to Ellen? 

1) Sister 

2) Uncle 

3) Sister – in – law 

4) Father 

5) Daughter 

Directions: Study the following information and answer the given questions. 

Eight persons are sitting in two parallel rows containing four persons each in such a way 

that there is an equal distance between adjacent persons. In row – 1, P, Q, R and S are 

seated and all of them are facing South. In row – 2, A, B, C, and D are seated and all of 

them are facing North. Therefore, in the given seating arrangement each person seated 

in a row faces another person of the other row. Each of them belongs to different places 

viz., Delhi, Jaipur, Patna, Pune, Mumbai, Chennai, Shillong and Surat, but not 

necessarily in the same order.  

The person from Delhi is second to the right of the person who faces C. The 

immediate neighbor of the person from Delhi faces the person from Patna. Only one 

person sits between the person from Patna and B. One who faces B is second to the left 

of P. One who is an immediate neighbor of B faces the person from Jaipur. The person 

facing the person from Jaipur is second to the right of the person from Pune. There is 

only one person between the person from Jaipur and S. R faces the person from Surat. R 
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is neither from Jaipur nor Mumbai. The person who is an immediate neighbor of D is 

from Shillong. D is not an immediate neighbor of B. 

Q 56. Which of the following pairs of persons is seated at the extreme ends in 

any of the two rows?  

1) SQ  

2) PR  

3) AC 

4) BD 

5) RS 

Q 57. Which of the following statements is not true regarding R?  

1) R is at the extreme right end of the row. 

2) R faces the person from Surat. 

3) R is second to the left of P. 

4) There are two persons between R and S. 

5) R is an immediate neighbor of Q.  

Q 58. Which of the following statements is not true regarding R?  

1) R is at the extreme right end of the row. 

2) R faces the person from Surat. 

3) R is second to the left of P. 

4) There are two persons between R and S. 

5) R is an immediate neighbor of Q.  

Q 59. Which of the following statements is not true regarding R?  

1) R is at the extreme right end of the row. 

2) R faces the person from Surat. 

3) R is second to the left of P. 
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4) There are two persons between R and S. 

5) R is an immediate neighbor of Q.  

Q 60. Which of the following statements is not true regarding R?  

1) R is at the extreme right end of the row. 

2) R faces the person from Surat. 

3) R is second to the left of P. 

4) There are two persons between R and S. 

5) R is an immediate neighbor of Q.  

Directions: Study the following information and answer the given questions. 

P, Q, R, S, T, V, W and Z are travelling to three destinations Delhi, Hyderabad and 

Chennai in three different vehicles – Honda city, Swift and Ford. There are three 

females among them one in each car. There are at least two persons in each car. 

R is not travelling with Q and W. T, a male, is travelling with only Z and they are not 

travelling to Chennai. P, a male, is travelling in Honda city to Hyderabad. S is sister of P 

and travels by Ford. V and R travel together. W does not travel to Chennai. 

Q 61. Members in which vehicle are travelling to Chennai? 

1) Honda city 

2) Swift 

3) Ford 

4) Either Ford or Swift 

5) Can’t be determined 

Q 62. In which car four members are travelling? 

1) Ford 

2) Swift 
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3) Honda city 

4) Either Honda city or Ford 

5) None 

Q 63. Which of the following combinations represents the three female 

members? 

1) Q, S, Z 

2) W, S, Z 

3) P, S, Z 

4) R, S, Z 

5) None 

Q 64. Which of the following combinations represents the members travelling in 

Swift? 

1) T, Z, W 

2) T, S, Z 

3) T, Z 

4) R, T, Z 

5) Can’t be determined 

Q 65. How many meaningful English words can be formed (starting with D) 

from letters A, T, H, R and E each being used only once in each word? 

1) One 

2) Two 

3) Three 

4) More than three 

5) None 

https://testbook.com/offers
https://testbook.com/offers


  
 

31 | P a g e  

 

Q 66. What approximate value should come in place of the question mark '?' in the 

following question? (You are not expected to calculate the exact value) 

81.84 + 145.87 + 15.64 = 90.003 + 35.88 + ? 

1) 125 

2) 111 

3) 118 

4) 151 

5) 132 

 

Q 67. What approximate value should come in place of the question mark '?' in the 

following question? (You are not expected to calculate the exact value) 

(12.90% of 4800) ÷ 26 = 5.94% of ? 

1) 800 

2) 700 

3) 600 

4) 400 

5) 200 

 

Q 68. What approximate value should come in place of the question mark ‘?’ in the 

following question? (You are not expected to calculate the exact value) 

(365.27 + 76.01)
1

2 ÷ 6.89 =
3×?

2
  

1) 12 

2) 9 

3) 30 

4) 4 

5) 2 
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Q 69. What should come in place of the question mark ‘?’ in the following question? 

(You are not expected to calculate the exact value) 

89.01 - 23.76 + 46.83 - 23.92 + 46.908 = ? 

1) 130 

2) 124 

3) 135 

4) 119 

5) None of these 

 

Q 70. What should come in place of the question mark ‘?’ in the following question? 

(You are not expected to calculate the exact value) 

63.706 × 2.3 + 46.408 × 3.8 - 23.692 × 4.6 = ? 

1) 182 

2) 165 

3) 176 

4) 192 

5) None of these 

 

Q 71. What should come in place of the question mark '?' in the following question? 

9

13
𝑜𝑓 2197 +

3

7
𝑜𝑓1155 =?  

1) 2020 

2) 2016 

3) 2116 

4) 2061 

5) None of these 

 

Q 72. What will come in place of question mark '?' in the following question? 

78% of √518400 ÷ 2.34 = ? × 1.5 
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1) 10 

2) 256 

3) 160 

4) 100 

5) 64 

 

Q 73. What will come in place of question mark ‘?’ in the following question? 

(9 × 4.5 + 11 × 5.5) + (15 × 7.2) = 225 - ? 

1) 11 

2) 20 

3) 16 

4) 27 

5) 18 

 

Q 74. What should come in place of the question mark ‘?’ in the following question? 

[{(5 +
7

6
) × (

36

5
)} ÷ (7 +

2

5
)] + 6 =?  

1) 18 

2) 15 

3) 12 

4) 20 

5) None of these 

 

Q 75. What will come in place of question mark '?' in the following question? 

7.2% of 800 + 11.5% of 600 = 112 + 1.4% of ? 

1) 100 

2) 210 

3) 300 

4) 270 
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5) 400

Directions: The following table gives the percentage distribution of number of families 

in five localities Jainagar, Kamlanagar, Lalbagh, Mujnesar and Neiville on the basis of 

newspaper or magazines they take and also on the basis of monthly or yearly 

subscription. Each of the household takes either newspaper or magazine and the 

subscription is either annual or monthly. 

Locality 

Percentage of 

household buying 

magazine 

Proportion of 

monthly to annual 

subscription of 

magazines 

Proportion of 

monthly to annual 

subscription of 

newspapers 

Jainagar 30 1 ∶ 4 2 ∶ 3 

Kamlanagar 38 2 ∶ 3 6 ∶ 7 

Lalbagh 48 3 ∶ 5 4 ∶ 5 

Mujnesar 50 1 ∶ 2 2 ∶ 3 

Neiville 60 5 ∶ 3 3 ∶ 2 

Q 76. If the annual subscription for magazine in Mujnesar is 1.5 million, then find the 

annual newspaper subscription in that area 

1) 2.1 million

2) 7.7 million

3) 1.35 million

4) 2.25 million

5) None of these

Q 77. If the annual newspaper subscription in Neiville is 5.7 million, then what is the 

total number of both magazine and newspaper annual subscription in that area? 

1) 3.8 million
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2) 10.5 million 

3) 9.5 million 

4) 11.4 million 

5) None of these 

 

Q 78. What will be the number of annual magazine subscription in Lalbagh if the total 

number of household in that area is 42 million? 

1) 12.6 million 

2) 33.6 million 

3) 30 million 

4) 26.25 million 

5) None of these 

 

Q 79. What is the total annual magazine subscription for Jainagar if the monthly 

magazine subscription for Jainagar is 105 million? 

1) 210 million 

2) 420 million 

3) 520 million 

4) 425 million 

5) None of these 

 

Q 80. If the number of newspaper subscription for Kamlanagar is 3.6 million and that 

of Neiville is 12 million, then the total number of households in Kamlanagar and 

Neiville are in the ratio? 

1) 1 ∶ 6 

2) 3 ∶ 10 

3) 6 ∶ 7 

4) 5 ∶ 9 
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5) None of these 

 

Q 81. A batsman has certain average till his first 15 innings. After those 15 innings, he 

scores 65 and 75 runs in consecutive innings and thereby increases his average by 

5 runs. What was his average till 15 innings? 

1) 30.5 

2) 35 

3) 32.5 

4) 27.5 

5) 40 

 

Q 82. If by selling twelve note-books, the seller earns profit equal to the selling price of 

two note-books, what is his percentage profit? 

1) 20% 

2) 25% 

3) 16% 

4) Data inadequate 

5) None of these 

 

Q 83. The marks secured by a student in 3 different subjects A, B & C are in the ratio of 

4 ∶ 9 ∶ 24. What is the new ratio if the increase in the number of marks in the three 

subjects A, B & C is 20%, 36% and 25% respectively? 

1) 40 ∶ 102 ∶ 250 

2) 63 ∶ 105 ∶ 25 

3) 33 ∶ 87 ∶ 92 

4) 35 ∶ 92 ∶ 45 

5) None of these 
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Q 84. A monkey leaps 5 steps for every 7 steps a human takes but 5 leaps of monkey are 

equal to 6 steps of man. What is the ratio of the speed of man to the monkey? 

1) 7 ∶ 5 

2) 5 : 7 

3) 7 : 6 

4) Cannot be determined 

5) None of these 

 

Q 85. What should come in place of question mark ‘?’ in the following number series? 

559, 519, 477, 433, ? 

1) 354 

2) 390 

3) 384 

4) 378 

5) 387 

 

Q 86. What should come in place of question mark ‘?’ in the following number series? 

6, 18, 96, ? , 7776 

1) 750 

2) 345 

3) 250 

4) 5456 

5) 645 

Q 87. What should come in place of question mark ‘?’ in the following number series? 

8, 19, 52, 151, ? 
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1) 248 

2) 348 

3) 448 

4) 548 

5) 648 

Q 88. What should come in place of question mark ’?’ in the following number series? 

46, 65, 86, 109, ? 

1) 154 

2) 134 

3) 124 

4) 144 

5) 164 

Q 89. What should come in place of ‘?’ in the following number series? 

48252, 48249, 16080, 3213, ? 

1) 945 

2) 764 

3) 456 

4) 232 

5) 342 
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Q 90. A man buys a single orange for Rs. 20. If he were to buy a dozen oranges, he 

would have to pay a total amount of Rs. 200. What would be the approximate per 

cent discount he would get on buying a dozen oranges? 

1) 12% 

2) 20% 

3) 11% 

4) 8% 

5) 17% 

Q 91. A working partner in a business receives 30% as his commission of the profit 

after his commission is paid. If the working partner’s commission is Rs. 9000, 

what is the total profit in the business? 

1) 27,000 

2) 21,000 

3) 30,000 

4) 39,000 

5) None of these 

Q 92. A sum was put at simple interest at a certain rate for 3 years. Had it been put at 

3% higher rate, it would have fetched Rs. 27 more. The sum is? 

1) Rs. 400 

2) Rs. 250 

3) Rs. 300 

4) Rs. 500 
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5) None of the above 

 

Q 93. A man can row 8 km per hour in still water. If in a river flowing at 2 km an hour, 

it takes him 24 minutes to row to a place and come back, how far off is this place? 

1) 8 km 

2) 3 km 

3) 1.5 km 

4) 6.5 km 

5) 2 km 

Q 94. A pipe can fill a tank in 42 minutes. Because of the leak in the tank, it took 14 

minutes more to fill the tank. What is the ratio between the time required for the 

pipe to fill the tank and time required for the leak to empty the tank? 

1) 1 : 2 

2) 1 : 3 

3) 3 : 2 

4) 2 : 3 

5) 1 : 4 

Q 95. Find the remainder when 33 × 41 × 50 is divided by 8. 

1) 11 

2) 8 

3) 4 

4) 2 
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5) None of these

Q 96. A person takes 5 hours to travel from place A to place B at the rate of 40 miles per 

hour. He comes back from place B to place A with 25% increased speed. Find the 

average speed for the whole journey. 

1) 44.44 mph

2) 36.63 mph

3) 56 mph

4) 42 mph

5) None of the above

Q 97. A bag contains 5 black balls, 8 white and 10 yellow balls. If three balls are drawn 

at random, what is the probability that all three balls are black coloured? 

1) 10/1771

2) 28/1181

3) 10/1177

4) 28/1717

5) None of these

Q 98. The length and breadth of a rectangle are in the ratio 4 : 7. The area of rectangle 

is 252 m2. Find the perimeter of rectangle. 

1) 66 m

2) 18 m

3) 21 m

4) 33 m
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5) 12 m

Q 99. A two digit number is 8 times the sum of its digits and if 45 is subtracted from it, 

the digits are reversed. Find the number. 

1) 36

2) 27

3) 45

4) 54

5) 72

Q 100. Train A running at 72 km/h crosses a bridge in 72 seconds. Another train 

B, 240 metres shorter crosses the same bridge at 60 km/h. What is the time taken 

by train B to cross the bridge? 

1) 64 seconds

2) 66 seconds

3) 72 seconds

4) 68 seconds

5) 67 seconds
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